


Tabby or plain weave

This is the easiest type of weaving, alternating the warp
(vertical) and weft (horizontal) yarns to produce a basic
woven texture.

A = Over one, under one and repeat

B = Under one, over one and repeat

Alternate rows A and B until you run out of space




Twill weave

Twill weave involves going under two warp yarns and then
over the next two, and offsetting each following row by one
warp yarn to produce a diagonal effect.

A = under two, over two and repeat

B = (over one), * under two, over two and repeat from *
C = over two, under two and repeat

D = (under one), * over two, under two and repeat from *

Weave in this order: A, B, C, D and repeat



Diamond weave

This is the most complex type of weaving shown here, with
four different rows, used in a six-row repeat to form a
diamond pattern.

A = over one, under two, over three, under two and repeat

B = (over two), * under two, over one, under two, over three and repeat from *
C = under one, over two, under three, over two and repeat

D = (under two), * over two, under one, over two, under three and repeat

Weave in this order: A, B, C, B, A, D and repeat



